Automatic Transmissions and Transaxles, 7th Edition
Quiz 14A

Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) What is the technician doing in this illustration? 1)

A) Installing a pressure gauge

B) Adjusting a band

C) Preparing to fill the transmission

D) Checking the transmission fluid level

2) A fluid exchange machine is designed to replace . 2)
A) 1/4to 1/3 of the old ATF
B) All of the old ATF
C) Only the ATF in the torque converter
D) All of the old ATF except for that in the filter mesh

3) After parking the vehicle and shifting out of gear it is discovered that the key will not come out  3)
of the ignition switch. What transmission area could cause this problem?
A) The shift interlock system
B) The manual valve system
C) The rear transmission mount
D) Low fluid level

4) The life of ATF is reduced if the temperature of the fluid is above . 4)
A) 32°F (0°C)
B) 100°F (38°C)
C) 175°F (80°C)
D) None of the above

5) Most manufacturers recommend fluid changes every . 5)
A) 10,000 miles (16,000 km)
B) 25,000 miles (40,000 km)
C) 50,000 miles (80,000 km)
D) 100,000 miles (160,000 km)



6) Why is there a magnet in the bottom of many automatic transmission pans?
A) To keep the pan in place as it is being installed

B) To attract any steel particle and keep them from flowing through the transmission
C) Used in assembly only

D) Any of the above, depending on make and model

7) When installing a new transmission pan gasket, it is recommended to seal it with RTV sealer.
A) True

B) False

8) Alip seal requires what type of tool to remove?
A) A chisel or slide hammer and/or a seal puller
B) A plastic trim removing tool
C) A large ball peen hammer
D) A clutch installation tool

9) ATF temperatures above 175° F may require that the fluid be changed
A) Less often

B) More often

C) With a cooler type of fluid
D) Immediately

10) Technician A says that all late-model vehicles require manual adjustment of the bands at regular

intervals. Technician B says a torque wrench is usually needed for proper band adjustment.
Which technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians

D) Neither technician
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